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QUESTION 1

Which is a recommended storage provider for the ROKS implementation
A. Cloud Data Lake

B. Kubernetes Container Storage

C. IBM Cloud Block storage

D. Containers Storage Block

Correct Answer: A

QUESTION 2

What is the IBM App Connect Enterprise Toolkit?

A. A high availability management tool

B. A command-line interface for App Connect integration

C. A web user interface for accessing integration server resources
D. A graphical user interface for message flow development

Correct Answer: A

QUESTION 3

An organization is looking into enabling multiple instances of Cloud Pak for Integration - Operations Dashboard in a
single Cloud Pak for Integration cluster. What statement below is true?

A. The namespace/project must be partitioned before enabling additional instances
B. Only one instance can be enabled per namespace/project

C. Multiple instances can be enabled on the same namespace/project

D. Only one instance can be enabled per cluster

Correct Answer: C

QUESTION 4
Which statement about the Container Storage Interface (CSI) drivers is true?

A. They can be included as part of the container image for applications to access storage
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B. They are integrated into the core OpenShift deployment
C. They are installed and configured in the host machines where the master nodes will run
D. They are typically shipped as container images and have to be installed by a cluster administrator

Correct Answer: A

QUESTION 5
Which statement describes Tekton?

A. Itis an integrated OpenStack program which aims to provision bare metal machines from the OpenShift Container
platform

B. It is a Block Storage service for providing volumes to virtual machines, bare metal hosts, containers and more

C. Itis an Open Source project that allows provisioning, managing and running virtual machines from and within
Kubernetes environments like OpenShift

D. It is an open source project that provides a framework to create cloud-native CI/CD pipelines quickly

Correct Answer: C
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